I can find a solution to a real-world problem by using the concepts associated with Volume

Volume Application

For an art project, you plan to pour different colored sand into a vase with a volume of 47.5

cubic inches. You have three cylindrical bottles of sand. Do you have enough sand to fill
the vase? Explain.
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Construction This section of a concrete skateboard ramp has the shape of a
triangular prism. Find the volume of the wiangular prism. Find the value of the
concrete used in the ramp if the cost of concrete is $4.00 per cubic foot.




When it spins, a quarter forms what appears to be a sphere. To the nearest hundredth of a
cubic inch, how much space does the spinning quarter occupy?

You are building a sand castle and want to use a bucket that holds a volume of 845 cubic
inches and has a height of 10.2 in. What is the radius of the bucket?
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An artist creates a cone-shaped sculpture for an art exhibit. If the sculpture is 13 feet tall
and has a total volume of 204.1 cubic feet, what is the radius of the sculpture?



A cylinder with a radius of 5 cm and a height of 12 cm has its radius tripled.

How many times greater is the volume of the larger cylinder than the smaller
cylinder?

A cereal company is deciding which shape container to use for their cereal.
The two choices are the cylinder and rectangular prism shown below. The
company wants to go with the container that can fit the most cereal. What is
the difference in volume and what container should they go with.

Water Tank A water tank is shaped like the cone shown here. How much water can
the tank hold? Use 3.14 for . If water is drained from the tank to fill smaller tanks that

each hold 200 m? of water, how many smaller tanks can be filled?

(The figure is not to scale.)



I can find a solution to a real-world problem by using the concepts associated with Volume
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N

For an art project, you plan to pour different colored sand into a vase with a volume of 47.5

cubic inches. You have three cylindrical bottles of sand. Do you have enough sand to fill
the vase? Explain.
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Construction This section of a concrete skateboard ramp has the shape of a
triangular prism. Find the volume of the triangular prism. Find the value of the
concrete used in the ramp if the cost of concrete is $4.00 per cubic foot.
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When it spins, a quarter forms what appears to be a sphere. To the nearest hundredth of a
cubic inch, how much space does the spinning quarter occupy? T
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You are building a sand castle and want to use a bucket that holds a volume of 845 cubic
inches and has a height of 10.2 in. What is the radius of the bucket?
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An artist creates a@shape? sculpture for an art exhibit. If the sculpture is 13 feet tall
and has a total volume of 204.1 cubic feet, what is the radius of the sculpture?
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A cylinder with a radius of 5 cm and a height of 12 cm has its radius tripled.

How many times greater is the volume of the larger cylinder than the smaller
cylinder?
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A cereal company is deciding which shape container se for their cereal.
The two choices are the cylinder and rectangular prism shown below. The

company wants to go with the container that can fit the most cereal. What is
the difference in volume and what container should they go with.
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Water '[ank A water tank is shaped like the cone shown here. How much water can f"'
the tank hold? Use 3.14 for n. If water is drained from the tank to fill smaller tanks that .\

each hold 200 m* of water, how many smaller tanks can be filled? I
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